
S9 (mod 2)

blocks defect matrix

2.G : 1 8 27× 5
2 5 15× 3

Block 1: ϕ1,0 ϕ3+ ϕ5+ ϕ7,0 ϕ9,0

11 = χ1,0 1 . . . .
12 = χ1,1 1 . . . .
421 = χ3+ 2 . 1 . .
271 = χ5,0 1 . . 1 .
272 = χ5,1 1 . . 1 .
281 = χ6,0 2 . . 1 .
282 = χ6,1 2 . . 1 .
701 = χ7+ 2 1 . 2 .
422 = χ9,0 . 1 . 1 .
423 = χ9,1 . 1 . 1 .
841 = χ12,0 2 1 1 1 .
842 = χ12,1 2 1 1 1 .
1051 = χ13,0 1 . . 1 1
1052 = χ13,1 1 . . 1 1
1201 = χ14,0 2 . 1 . 1
1202 = χ14,1 2 . 1 . 1
1621 = χ15,0 2 1 1 1 1
1622 = χ15,1 2 1 1 1 1
1891 = χ17,0 3 1 1 2 1
1892 = χ17,1 3 1 1 2 1

161 = χ19+ . 1 . . .
563 = χ23,0 . 1 1 . .
564 = χ23,1 . 1 1 . .
1121 = χ24,0 4 1 1 2 .
1122 = χ24,1 4 1 1 2 .
2401 = χ25+ 4 . 2 . 2
3361 = χ28+ 4 2 1 4 2

ϕ1,0 = 11
ϕ3+ = 161
ϕ5+ = 401
ϕ7,0 = 261
ϕ9,0 = 781



Block 2: ϕ2,0 ϕ8,0 ϕ10,0

81 = χ2,0 1 . .
82 = χ2,1 1 . .

481 = χ10,0 . 1 .
482 = χ10,1 . 1 .
561 = χ11,0 1 1 .
562 = χ11,1 1 1 .
1681 = χ16,0 1 . 1
1682 = χ16,1 1 . 1
2161 = χ18,0 1 1 1
2162 = χ18,1 1 1 1

961 = χ21+ . 2 .
1601 = χ27,0 . . 1
1602 = χ27,1 . . 1
2241 = χ30,0 2 1 1
2242 = χ30,1 2 1 1

ϕ2,0 = 81
ϕ8,0 = 481
ϕ10,0 = 1601


